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Find the surface area of the solid. Lools Lilee
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Pattern blocks can be arranged to fit in a circular pattern without leaving spaces. Remember that the
measurement around a full circle is 3607
2. Find the degree measure of i@ nwe {purdhdf the numbered angle shown below. All angle measures are congruent.
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3. Explain how you can find the distance between two points without a ruler.
Include (1) how to use the Pythagorean Theorem and (2) the Distance Formula to find the distance between two

points, and the length of 2& from the figure given below.

p - Find the distance using both methods. (}
(\ &')‘\5) @“\‘FL\C\.CTDW&“ JYL\M Dls“{“@\"_\(‘f_‘_ ol vt o
— ‘.7__ . .-.u}’ | —F —T
Pu 1 - } <2 Vs s, .
( t = | : -
\e} bod) Ry ‘1,& \‘)J-L_ o cl= T(FS ) F (=D
") a) J‘._,\.S 3 = > - C *
" L{\w..‘e lc’“ S units ‘fuh"J-S q + QS - C?‘ ("/Q - T’S 2
é ('.\V\’l il 2 .
aes sl guect d= Terres
\)u.’u < i s r—
g{\ = f oy o b m :_C, (/Q = 3 \-[’
L p*sS

dorkk & (2D

A
(t

w$ LWt Q) ( 3) \

4. The coordinates of midpoint M and endpoint C of a segment are M(bf 6)and C( 7 ;}) Find the coordinates of the

other endpoint. \‘?F)k\( ( 81 1wl B /,«— .
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—. 5.BONUS QUESTION The longitude-latitude coordinates of Worland, Wyoming are [ 42,227V, 1033 é’w) adof

wke) Portland, Maine are (41,190 71, | . If Worland is one endpoint of a segment and Portland is its midpoint,
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find the latitude and longitude of the other endpoint. ( . (?)
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